
Act II Twelve Angry Men 

	Directions: After complete Act II of Twelve Angry Men, please respond to the following questions. 



1. What is the vote at the beginning of Act 2? 



2. Why does Juror 3 think Juror 5 voted “not guilty” ? 



3. Who changed their vote? Why? 



4. What is the point Juror 8 makes about the passing elevated train? Use evidence from the text.



5. Why is it so important to Juror 3 that the boy be convicted of the crime? 



6. What are TWO themes that have emerged over the course of the play so far. Support each one with a piece of evidence 





